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Emily mailed invitations 
to her birthday party on 
February 23. Her 
birthday is exactly three 
weeks later. On what 
date is her birthday?

Alex picked 20 pretty 
flowers for his mother. 
Two-fifths of the flowers 
were blue. How many 
flowers were not blue?

The students at Marion 
Heights Elementary 
School went on a field 
trip to the United 
Nations building as a 
part of their World Hello 
Day celebration. They 
left the school at 7:39 
a.m. and returned at 
2:26 p.m. How long was 
the trip from the time 
they left until the time 
they returned to school?

Mrs. Hall was a 
volunteer at the Angel 
Thrift Shop. She worked 
every morning from 
9:30 a.m. until 12:45 p.m. 
How many hours did 
she work in 13 days?

Mrs. Rodriguez is making 

fruitcakes at the bakery. 

Her recipe calls for 1
4

 of a 

cup of molasses and makes 

5 fruitcakes. How much 

molasses will she need to 

make 30 fruitcakes?

During Truck Driver 
Appreciation Week, a 
convoy of 31 trucks 
drove from Midvale to 
the state capital, a 
distance of 378 miles. 
How many miles did the 
trucks drive in all? 
(Assume the distances 
are placed end to end.)
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÷ 5 = 6 60 ÷ = 10

99 ÷ = 9 ÷ 4 = 9

24 ÷ = 12 16 ÷ = 8

÷ 6 = 11 ÷ 10 = 6

53 - 7 = 34 - 4 = 14 - 3 =

24 - 3 = 41 - 5 = 42 - 4 =

24 - 6 = 85 - 6 = 84 - 9 =

78 - 8 = 44 - 5 = 34 - 2 =
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Erin and her mother are going to the store. 
They will buy school supplies. Erin needs six 
pencils and two rubber erasers. They are 
leaving at 4:15 p.m. If it is 12:42 p.m. now, how 
long is it until they leave?

There are 7,843 eggs to be packed into 
cartons. What number is in the hundreds 
place?

How many coos are equal to 15 roars?

15 roars = 20 squeaks
4 squeaks = 1 bellow

20 bellows = 120 coos

Circle the bigger number.  Put a square around the smaller number.

9.9 tenths

42.6 hundredths

word root frag can mean break fragile, fragment, fragmental
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What is the least common 
multiple of 9 and 12?

What is the greatest 
common factor of 12, 39, 
and 21?

What is the least common 
multiple of 14 and 10?

word root cogn can mean know cognition, cognitive, recognize
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64 ÷ 32 = 664 ÷ 8 =

234 ÷ 6 = 40 ÷ 2 =

728 ÷ 91 = 639 ÷ 9 =

348 ÷ 4 = 237 ÷ 79 =

÷ 4 = 6 ÷ 11 = 5 6 ÷ = 3

132 ÷ = 11 49 ÷ = 7 ÷ 6 = 7

÷ 3 = 11 60 ÷ = 5 56 ÷ = 8

77 ÷ = 11 ÷ 4 = 9 ÷ 8 = 10

3 2 4 5 3 5 5 1 5 9 5 4

6 3 6 8 4 0 4 2 0 2 1 8

9 4 5 5 3 0 4 3 6 2 8
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Sara went to the store to buy bread, milk, 
bologna, and eggs. A package of Marty's 
Meats bologna weighed thirteen ounces and 
had eight slices in it. It cost $9.10. The 
Summerlin bologna weighed ten ounces and 
also had eight slices in it. It cost $2.20. How 
much more per ounce did the Marty's Meats 
bologna cost than the Summerlin bologna?

Wendy is raising a flock of mallard ducks. The 
males are so pretty with their glossy green 
heads, a white neck ring, and a 
purplish-chestnut breast. The mostly gray 
females lay 8 to 10 eggs each year. Wendy 
has nine gray females and fourteen brightly 
colored male mallards in her flock. If each 
female raises eight ducklings this year, how 
many mallards will be in Wendy's flock next 
year?

Mrs. Lewis's class is raising money for needy people during November.

Anna saved a dime for each day of the month to donate.

Billy saved a nickel each day.  Who collected more money?  By how much more?

Find the product of 8 and 4. Write the number that is 
one ten less than 3,613.

You need to add what to 
78 to get 86?
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+

29

+

15 40

93
+

31

59
+

45

77
+

62

What kind of angle is this?

Sketch 2 lines GH  and TU  that are 
intersecting.

56,  64,  72,  ,   88,  

96,  104,  112

Is 38 a composite or a 
prime number?

7 + 7 x 2 - 8

657 + 8 = You have a playdate in 180 
minutes.   How many hours 
is that?

In the equation 36 x 490 = 
17,640, which number is the 
product?

Hannah bought a pack of 
six waters.  It cost $3.60.  
How much did each water 
cost?

Is 749 closer to 700 or 800? Write the number that is 
one hundred more than 
6,061.
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Multiply

x 0 1 2 3 4 5 6 7 8 9 10 11 12

2 20

3 24

4 12

5 0

6 12

7 7

8 88

9 36

10 70

11 55

12 144

10 x 6 = 3 x 7 = 10 x 3 = 8 x 1 = 9 x 4 =

12 x 7 = 0 x 4 = 6 x 6 = 11 x 10 = 2 x 6 =

6 x 6 = 7 x 9 = 0 x 12 = 10 x 7 = 5 x 3 =

8 x 12 = 8 x 1 = 9 x 3 = 9 x 4 = 5 x 8 =
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Cross off the number that does NOT belong.

46, 55, 65, 76, 88, 101, 115, 124, 130, 146, 163, 181, 200

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

419976, 419976, 997641, 764199, 419976, 997641, 764199, 419976, 

997641, 764199, 419976, 997641, 764199, 419976, 997641

Why does __________ not belong in the pattern?
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Hunter has two quarters,
five nickels, and one 
dime to buy chocolate 
ice cream. Write three 
different expressions 
that show the amount 
of money he has.

Jenna helped her aunt 
pick tomatoes from her 
garden. It was hard 
work and it made her 
back hurt, but it was 
worth it. Those juicy 
fresh tomato 
sandwiches would be 
delicious! They picked 
tomatoes from 7:37 a.m. 
until 11:14 a.m. For how 
long did Jenna and her 
aunt pick tomatoes?

It is so obvious that Erin 
has a big heart. 
Yesterday she baked 
some brownies for her 
grandfather. She gave 
him 12 brownies, and 
then ate 5 of the 
remaining brownies. Let 
n represent the number 
of brownies she baked. 
Write an expression 
using n showing this.

How many kilograms are in 3,000 grams?

 kilograms

Circle the addition property 
for 79 + 138 = 138 + 79.

commutative property
associative property

If you multiply 456 x 305, you will have a number 
that is how much bigger than 152 x 305?

It will be three times as big.
It will be six times as big.
It will be four times as big.
It will be nine times as big.
It will be eight times as big.

24 ÷ 6 = 8 0
- 2 8

4 4
+ 2 9

20 kg = g
Circle the smallest number:
8,394 15,270,731,246
942,651 80,736
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3 9 6
- 2 5 3

12 x 9 = 
What time is 16 hours after 
3:00 a.m.?

1 lb = 16 oz

21 lb = oz

Which is the smallest?

26.9 ÷ 5.3 26.9 ÷ 5.2 26.9 ÷ 5.4

12 ÷ 4 = 
The circus is in town!  Tickets are only $7 for kids. 
Adults need to pay double the price of kids 
tickets.  Amy is bringing three of her friends in 
her class.  Her mom is also coming.  Amy wants 
to pay for everyone. How much will she need to 
pay?

3 0 9
+ 2 1 5

Write this as a number in standard form.  
Use a comma in your number.

six hundred twenty-five thousand,  
sixty-four

Can 224 be evenly divided by 7? Circle:
224 is evenly divisible by 7
224 is NOT evenly divisible by 7

50 ÷ 5 = 

9 x 6 = 
What is the meaning of the underlined phrase?
Esther has been under the weather for the last few days.

https://www.mathworksheets.com


Name:
Week of December 13
MathWorksheets.com

The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

N Q R R L R

P M N S S T R

R T G R C R Y

S S C T

C I N C O M E S L

N C K L M R

R J C K T

K M M R B L

N W H L T N

B F R T N T

WHOLE NICKEL QUARREL
FORTUNATE JACKET INSIST
INCOME GROCERY PRECOOK
MEMORABLE ASSOCIATE

Write an equation to represent this:

The difference between ten and three is 
seven.

Five kids and three adults are going to the circus.
Kid's tickets are on sale for only half the price of 
adult tickets.  The total cost is $60.  How much is 
one kids ticket?  How much is one adult ticket?

(7 + 8) + 7 = 

Circle the digit in the tenths place.

4,941.27

Write a letter that has a line 
of symmetry.

For 52,783,989,996,528, write 
the digit that is in the hundred 
thousands place.

How many digits are in ten 
times ten?

10 x 7 = 
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7 = 8 - 9 1 0 9 = 8 + = 9 - 0 3 1
6 0 1

Use the pieces above to help you fill in the runaway math puzzle.

Circle the greatest number:
84,230
6,917

15,706,421,958
68,904,732

In the number 8,005,584,543, the digit 3 is 
in what place?

Write the missing family fact.

18 + 49 = 67
67 - 49 = 18
49 + 18 = 67

What prefix does each of these words 
have in common? Write the prefix and 
what you think it means on the line.
antibiotic, antifreeze, antiseptic

4 0 + = 1 + 6

7 - 5 - 6 +

4 2 + = 1

= =

- 9 9 - 9 0 1 1

- 5 0 2 + 3

5 0 8

+ + 5 = 8 +

8 0

1 + + 5 = 6 =

7 1

= 7 - 3 = 7 - 3 5

8
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= 6 + 0 8 1 3 1 2 x + 8 0 5 0 0
= 6 8 8

Use the pieces above to help you fill in the runaway math puzzle.

12 x 4 = Name the shape with five 
sides and five angles.

What is the sum of 10 and 
790?

Wendy has 30 cookies.  
She and her 5 friends 
shared them equally.  How 
many cookies did Wendy 
keep?

Name the shape with six 
sides and six angles.

Write the first 8 multiples of 
6.

5 - 4 4 - 3

x

7 = 1 3 - 2

= + 8 ÷ =

0 ÷ 5 = ÷

5 = 7

5 x 6 = 3

÷ = 4

2 + + = 1 6 7

2 0

= =

2 0 + 8 =
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

8 + 8 =

3 + 2 =

6 + 3 =

2 + 4 =

1 + 5 =

4 + 5 =

5 + 6 =

7 + 8 =

9 + 5 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

6 x 4 = 9 + 6 = 9 + 4 = 28 ÷ 7 = 8 x 3 =

6 + 9 = 5 + 5 = 6 - 5 = 21 ÷ 7 = 8 - 4 =

9 x 9 = 8 + 5 = 7 + 5 = 3 + 7 = 3 x 9 =

3 + 3 = 9 - 4 = 6 + 5 = 7 x 9 = 8 + 5 =

30 ÷ 6 = 4 + 4 = 7 x 4 = 9 + 6 = 9 + 5 =

7 x 5 = 7 + 3 = 5 - 3 = 20 ÷ 5 = 9 + 5 =

17

8 9

11

7

13

7

10

9

10

2

67 + 3 = 33 + 6 = 54 + 8 = 13 + 7 = 78 + 7 =

28 + 3 = 44 + 6 = 74 + 9 = 38 + 9 = 68 + 4 =

44 + 8 = 18 + 4 = 25 + 8 = 54 + 7 = 34 + 4 =

78 + 5 = 68 + 5 = 23 + 4 = 57 + 5 = 49 + 3 =

13 + 9 = 25 + 7 = 76 + 4 = 63 + 8 = 46 + 8 =
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journal lure trophy leaves stage reduce
Each row, column, and box must have all the words from the word list.  Write in the missing 
words.

leaves reduce stage

reduce journal stage trophy

trophy leaves

leaves

stage trophy

Can 700 be evenly divided by 5? Circle:
700 is evenly divisible by 5
700 is NOT evenly divisible by 5

Sarah wants to call Amy.  
Amy is on vacation in Asia.  It 
is a time difference of nine 
hours.  Amy's time is always 
later than Sarah's time.  If it is 
8:15 A.M. where Sarah lives, 
then what time is it where 
Amy is?

Write 2,958,330 in words.

April has two favorite 
numbers.  If you add her 
favorite numbers, you get 16.  
If you multiply her favorite 
numbers, you get 55.  What 
are her mystery numbers?
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